1D pull distribution
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asym_bcm_target RMS (ppm)
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asym_bcm_an_us RMS (ppm)
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1D pull distribution
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asym_bcm_an_ds RMS (ppm)
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asym_bcm_an_ds3 RMS (ppm)

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

‘ —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

Lo denn bodbien b bbb o A
o Yo} o Yo} o Yo} o Yo} o
(e)] [o0] [o0] N~ N~ [{e] O Ln n
— — — — — — — — —

(wdd) sy

€'965Y7
2'S6SY
T'S6SY
0'S65Y
V'v6Sy
€'V6SY
¢'v6Sy
T'v6SY
0'v6SY
'€65Y
€'€65Y
2'€6SY
T'€6Sy
0°€6SY
v'¢6Sy
€265y
2265y
T'¢6Sy
0265y
7’1657
€165y
2'T6SY
T'16SY
0'T6SY
€065y
2'06SY
10657
0'065Y
¥'68SY
€685y
2'68SY
1685y
0'68SY
7’885y
€885y
288Gy
18851
08851
¥',.8SY
€'/8SY
2¢'/8Sy
T/8SY
0,85y
¥'98SY
€985
2’985y
T'98SY
0985y
¥'98SY
€'98GY
2’985y
T'98S1
0985y



1D pull distribution
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asym_bcm_dg_us RMS (ppm)
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asym_bcm_dg_ds RMS (ppm)
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diff_bpmE RMS (um)
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1D pull distribution
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diff_bpm4aX RMS (um)
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diff_bpm4eX RMS (um)
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1D pull distribution
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diff_bpm4aY RMS (um)
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diff_bpm4eY RMS (um)
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diff_bpm11X RMS (um)

. —]

. —]

. —]

. —]

. —]

. p—

. —]

. —]

. p—

. —]

. —]

. p—

. —]

. —]

. p—

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. —]

. p—

. —]

. —]

. p—

. —]

. —]

. p—

. —]

. —]

. p—

. —]

. —]

.l

. —]

. —]

_______________________4__________________|_.
o) — o) o o) o o) fe%)
— Lo S S < © <

o} To) < <

(wn) SNY

€'965Y7
2'S6SY
T'S6SY
0'S65Y
V'v6Sy
€'V6SY
¢'v6Sy
T'v6SY
0'v6SY
'€65Y
€'€65Y
2'€6SY
T'€6Sy
0°€6SY
v'¢6Sy
€265y
2265y
T'¢6Sy
0265y
7’1657
€165y
2'T6SY
T'16SY
0'T6SY
€065y
2'06SY
10657
0'065Y
¥'68SY
€685y
2'68SY
1685y
0'68SY
7’885y
€885y
288Gy
18851
08851
¥',.8SY
€'/8SY
2¢'/8Sy
T/8SY
0,85y
¥'98SY
€985
2’985y
T'98SY
0985y
¥'98SY
€'98GY
2’985y
T'98S1
0985y



1D pull distribution
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Mean

Std Dev  0.8868 + 0.08614

Underflow

Overflow
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Sigma
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asym_atl2 RMS (ppm)
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asym_atrl RMS (ppm)
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